Addition and Subtraction Unit 3

Problem solving and reasoning questions

Add four hundred and fifty-six to three hundred and seventy-two.

What is the total of two hundred and sixty-eight and two hundred
and eighty-six?

Write the missing numbers

643 +174= |
() -356=238
327+258= |
() -426=247

Amit uses 346 Lego pieces in building his model X-wing, and his sister
uses 287 in building her Millennium Falcon.
How many Lego pieces have they used altogether?

These questions should be provided for children to do once the unit has been completed. They
assess the children’s mastery of the skills and concepts in this unit.
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